g Aol A x? o] Al

@ -17 ® 0

£ a, x9



w, 22 9] A4

oo
=

]_

fife)

T

N

4

T

(2 +3x)(=2x) &

2.

@ 1 B 3

3 0



o 7t 74

o] B& W, a-b o] 327

@ 1 B 3



otedl S ol Al 3km 2 23, WEl&
o] A|<4s 5km 2 Zo|A] mE 4 A|7to] A},
& o, &Rt A EE ool

km






5 o x o] #42?

f(x) ol tiste] y = 3x+2 °]4L, f(x)

SEAS
o=

A7

® 1 3 2 @ 3 B 4

D 0



7.

o3 2 Z o] Lx}gha=o]
gt Stot 2q + b 9] ZHE?

]O]y:ax+b A

® 1 @ 2

Sy



2% — — 9y —
8. A by 3y7B:x 2y -3
3 2

of wet A o= yeolzt.

A, A+3(A-B)-(A-B)Ex, y

-

B e



a+b _a—b

5 Y 3 A o}, 3ax + 6by S a & b o] T
LERHAE?

St AlOZ

D a? +ab +b? @ a® + 2ab - 2b> ® a® + 3ab - 2b?

@ a2 - 3ab - 2b? ® a? - 3ab + 2b2



H

Tor
ol

EE T Aot o]

-

<t b~

stofzt.

?_

a1
T=

‘B



3\

yl\




12.

3 6km

@ 7km

B 8km



x—y=3
@ y
2x — 2y
2x+y=5
3 y
x+2y=4
6x—2y=4
® Y

Be AL
2x—-y=1
@ y
dx=2y—-2
x=y+2
@ y
3x-3y=4



14. o= shie] 2o 8ty 4 11000l 9let. FHol A mct o
o

@D 480 ¥ @ 500 9 ® 576 %



